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COMMERCE
Paper - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Assertion (A) : Globalization is a process of global integration of products,
technology, labour, investment, information and even cultures.

Reasoning (R) : As a part of economic reforms in the country globalization is the result
of internal economic compulsions and external pressure of
international community.

Codes :

(1) (A) and (R) both are correct and (R) is correct explanation of (A).

(2) (A) and (R) both are correct, but (R) is not correct explanation of (A).
(3) (A) is true, but (R) is false.

4) (A) is false, but (R) is true.

2. Which of the following sector is not open for 100% foreign direct investment ?
(1) Oil refining (2) Power plants
(3) Airport development (4) Coal

3.  Read the following statements and find the correct option :
Statement — I : The 1991 industrial reforms exempted all industries from compulsory
licensing.
Statement — IT : Still there are a few industries under compulsory licensing.
Codes :
(1)  Only Statement — I is correct.
(2)  Only Statement — II is correct.
(3) Statements — I and II both are correct.
(4) Statements — I and II both are not correct.

4. Match the items in Column — I to those of Column —II :

Column - I Column - IT

a Demand for packaged food L Economic factor
b Strike in factory ii.  Social factor
c.  Lower interest rate iii.  Political factor
d New production method iv.  Technological factor
Codes :

a b c d
(1) ii i i v
2) i i i v

3) 1 i 1 v
4 1 v 1 i
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a b c d
(H) 1 1 i iv
2 i 11 i iv

3) 1 i 1 v
4 1 v 1 i
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5. Which of the following statements is true ?
(1) Rate of return on capital is Acid Test Ratio.
(2) Equity capital to fixed interest- bearing securities is a turnover ratio.
(3) Capital gearing is the ratio of equity capital to fixed-interest bearing securities.
(4) Input and output ratio is a measure of profitability.

6. A and B are partners in a firm who share profits and losses equally. They admitted C on
the following terms :
C should bring ¥ 12,000 as capital and I 8,000 as goodwill. New profit sharing ratio of A,
B and C will be 2 : 1 : 2, respectively.
A and B will share the goodwill in which of the following ratios ?

(H 3:4 2 2:3
3 2:1 4 1:3
7.  Match the items of List — I with those of List — II and choose the correct code :
List - I List - II

a. Material Cost Variance i. Actual Time (Standard Rate — Actual Rate)

b. Material Usage Variance il. Standard Price (Standard Quantity — Actual
Quantity)

c. Labour Rate Variance iii. Standard Material Cost — Actual Material
Cost

d. Labour Efficiency Variance iv. Standard Rate (Standard Time - Actual
Time)

Codes :

a b c d

(1) iii i i v

2) ii i iv il

3) i il i iv

4) w1 1v 1

8. If sales of a firms are ¥ 74 lakh; variable costs ¥ 40 lakh; fixed costs ¥ 8 lakh, then
operating leverage of the firm will be
(1) 1.87 2 131
(3) 251 4) 327

9.  For the following two statements of Assertion (A) and Reasoning (R), indicate the correct

code :

Assertion (A) : High initial price with heavy promotional expenditure at early stages
for selling new products is justified.

Reasoning (R) : Demand for new product is likely to be less elastic at the early stages
of market development.

Codes :

(1) (A) is correct but (R) is not correct.

(2) (A) is not correct but (R) is correct.

(3) (A) and (R) both are correct.

(4) (A) and (R) both are not correct.
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a. QT AT fereRor i. adlas 9T (T I — At 39)
b. T STANT fareroT ii. TETT g (VHTT HIET — Sdfae AT
c. o 3T faero ii. YETT AT AT — SdTaes ST AT
d. = FRCIT =Ry iv. THT ST (FHTT 9T — SRdTaeh 99d)
HES:
a b c d
(1) i1 1 11 v
2 1 1 v il
(3) it 11 1 v

4) w1 1v 1

8. T ®Y o fosha T 74 Mg, UREd-RIA AFd ¥ 40 @R, € g 3 8 g &, a ®H o
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(1) 1.87 2) 1.31
(3) 251 4) 3.27
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(2) 3ATHH (A) Tt Tl &, fohed % (R) WET € |

(3) 3 (A) T8 % (R) 3HT Tl & |

(4) 3MHE (A) T % (R) 3T &l &I & |
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10. Match the items of List — I with those of the List — II and indicate the correct code :

d.

List - I List — IT
Producer’s equilibrium range 1. Leon Walras’s approach
Possible input use ii. Alfred Marshall’s approach
New price equilibrium after change in iii. Isoquant curve
demand is set through price adjustment
New price equilibrium after change in iv. Ridge lines
demand is set through quantity adjustment

Codes :

(1)
2
3)
“4)

a b C d
i i i v
i iv i iii
iv il i ii
iii i iv ii

11. Gossen’s second law of consumption is based on which combination of the following

assu
L

II.
I1I.
IV.

mptions :
Rational Behaviour of consumers
Cardinal measurability of the utility
Comparability of the utility
Desire for attaining satiety

Indicate the correct code :
Codes :

ey
2
3)
4

I I 11
Im m 1Iv
I I 1Iv
I I 1Iv

12. Perfect competition cannot be distinguished from monopolistic competition as per which
combination of the following features of the market :

(a) freedom for entry into or exit from the market.

(b) level of knowledge of the market.

(c) number of buyers and sellers in the market.

(d) nature of goods bought and sold.

Indicate the correct code :

Codes :

(1 @ () ()

2 () (© (@

3 @ O (o)

@ @ (© (@
13.  Which one of the following is not the probability based sampling technique ?

(1)  Cluster sampling (2) Stratified sampling

(3)  Snow-ball sampling (4) Multi-stage sampling
Paper-I111 6
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10.

11.

12.

13.

Tl — 1 ol 7T 1 Gl — 1 3 A& 9 ool ifST e Qe g 1 =2 iy :

T -1 = - 10
a. SR o W Sl G i, foram arery ATy
b. TR HTEA IUFNT ii. 3TCHhE AT T STNFTH
c. TAT URedH & URUTHEEY T Ged 9 il SEICHS o
o HHESH % Wread 9 Bir e |
d. ¥ uRed o heiaey 96 9o 9 9 iy, R’ @
THENH % Ty § 8l § |
FHE
a b c d
(H i ii i v
2 1 v 1 1ii
3) iv i 1 11

(4) 1 1 v i

T <1 ST &1 fgaia e frafafaa m=adet & e 9aie o emaia € 2
I 3RS o [gasyol &eer
I SYSNTAT St YA AT
1. SYFRTAT St JeArga

IV. I=ifte Wi st gt

&l e AT AT

S :

() 1 1 11

2 I 11 1v

G 1 1 IV

@ 1 1 IV

SR i T=Teiad foedret & fd T o STER U qoT AfaaiiTar sl ThienRe DiqaimTdr
T 37T T fepaT ST WehelT & 2

(a) SSIR T YT 37 ST 6l sl
(b) TSR % A H &R

(c) ST H shaali Ua forshara st wen
(d) T F fasRa & ST aTelt SEqet & Wy
TET IS B TI HIT :

HIE:

1 @ @® (@

2) b (© (@

3 @ ® (©

@ (@ (© (@

fr=feriaa & 9 @i 9t T uiaeaT ggia migedr s T&i & 2
(1) 99§ uid=a (2) TP uiqE=
(3) qURMUS (FHi-sfeT) Uidea (4) SEEROT U=
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14.

15.

16.

17.

18.

Read the following statements and choose the correct code :

Statement — I : In statistical hypothesis-testing, null hypothesis states that there is a
difference between population parameter and sample statistic.

Statement — I : The two-tailed test in hypothesis testing is a non-directional test.

Codes :

(I) Both the statements are true.

(2) Both the statements are false.

(3) Statement — I is true while Statement — II is false.

(4) Statement — I is false while Statement — II is true.

Match the items of List — I with the items of List — II and indicate the code of correct
matching :

List - I List - II
a. Regression coefficient of variable Y ., (Mean of squares between sample groups)
on X variable L (Mean of squares within sample groups)

b. Value of Chi-square

L LX-X)(Y-Y)
11.
n

c. F-ratio for ANOVA .. _(0O=E)?
1. X B

d. Covariance between X and Y

X(Y-Y) X-X)
V.

variable i
(X -X)?

Codes :

a b c d
(1) iii il i iv
(2) iv il i i
3) i iv i i
(4) iii iv i i
If the two regression lines are as under :
Y=a+bX

X=C+dY
What is the correlation coefficient between variables X and Y ?

(1) /be 2) Jac
3) +fad @) ~lbd

The tendency to perceive another person as belonging to a single class or category is
known as

(1) Stereotyping (2) Halo effect

(3) Attribution (4) Assimilation

Which of the following is not a feature of Weber’s ‘Bureaucracy’ ?
(1) Hierarchy (2) Division of work

(3) Official rules (4) Personal relationships

Paper-111 8 J-08-16



14.

15.

16.

17.

18.

FAfeTEd AT it g 317 el He 6 997 B

FHUA -1 : GBI IR THEIT B I U] I8 Sdrl ¢ 16 G99 AIUES 3R Uideer
Tiftereht % ot ST el € |

HUA — I : TR qXietor § f-Us olieror ueh fem-fodie adiefor gar ¢ |

B :

(1) 3IHFTTHE |

(2) TMHFFTATE |

(3) U -1 HEl &, STafh o — [[ T ¢ |

(4) T — 1T &, STeifeh o — [[ el ¢ |

Tt — [ B A& 6l Gl — 11 <l T81 o |1 GATeAd HITT 31X T& oA 1 $e Ty :

=t - 1 =t - 11
a. X =AW Y I H U o1 . (TRt Feget o it e o A
b (et @l | A ey Are)
b, FETFR T4 L IX-X) (YY)
’ n
c. ANOVA & a0 F-3rqumd .. .(O—E)?
111.2T
d. X 3R Y =l & s Fafereror Y Y-TX-%)
1V.
(X - X)?
E T
a b C d
() i i i v
Q) iv i i i
3) i iv i i
4) i iv i i
T T AT @ R 2
Y =a+bX
X=C+dY
@ X 3R Y =il & S 1 Teda N ¢
(1) fbe 2) Jac
3) ad @ Jod
T AT T UHT FHSH ! UG Toh 9 Thel Ul a7 o T & I Fed ©
(1) WiRgerEiT (2) & T™E
(3) ‘UiqU (4) STHYThIT
fefofiaa & ¥ 9 9 9o o FI@mer & foeear 7t & 2
(1) F|u= (2) A H TS
(3) wHEE Gudt g (4) i Gay

J-08-16 9 Paper-I11



19. Match List — I with List — II

List -1
a. Matrix Design 1.
b. Network Design il.
c. Horizontal Design 1il.

d. Virtual Organisation iv.

Codes :
a b C d
(H i ii i iv

2) 1 v 11
3) w1 v 1
“4) 1 i ivoii

List - IT
Project structure as superimposed on a functional
structure.
A temporary network of companies that come
together quickly to exploit fast-changing
opportunities and share skills, costs and markets.
Teams are used to manage everything.
Totally abandoning classical, hierarchical and
functional structure of organization.

20. Which of the following is exercised during the operation of programme ?

(1) Feed forward control
(3) Static control

(2) Feedback control
(4) Concurrent control

21. Assertion (A) : Publicity is a non-personal stimulation of demand for a product by
obtaining favourable presentation in media that is not paid by the

Sponsor.

Reasoning (R) : In strict parlance, publicity does not form a part of communication mix
because it is not paid for, its appearance is not always certain, and its
presentation is not programmed.

Codes :

(1) (A) is right and (R) is wrong.

(2) (R)isright and (A) is wrong.

(3) Both (A) and (R) are right and (R) explains (A).

(4) Both (A) and (R) are right and (R) does not explain (A).

22. The difference between the prospective consumer’s evaluation of all the benefits and costs
of an offering and perceived alternatives, is known as
(1) Customer perceived value

(2) Total customer benefit
(3) Total customer cost
(4) Customer expected value

23. Inthe ‘decline stage’ of the ‘Product Life Cycle’ sales decrease due to

(a) technological advances
(b)  shift in consumer tastes

(c) increased domestic and foreign competition

Codes :
(I) (a)only
(3) (a)and (c)

Paper-I111
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19. I — [ gt — 11 ¥ Hfold ST

T -1 = - 10
a. Ui Ao i. OS2 Wl TR G W SRR AT
b. TeEe A ii. HUMAT T AT J2deh, ST ool ¥ S5 ool ST
T M SSM 3T HIgTed, ST q4T SIS Bt GIH i &
foTT i v T ST ¥ |
c. &St Ao iii. Tt P BT IEY FA % AT T\ B 7G0T B AT E |
d. e gmed iv. ¥TeT & TeREmd, QR 3R TeEicd® @ S goTd:
RN T |
£
a b C d
(H i 11 i iv

2) 1 v 11
3) w1 v 1

@ i il v iii

20. HIIHA i TATary & SR FeTaiad 1 @ forgent u=i foar siar & 2
(1) 3 qfe = (2) wfayfe T
(3) fde gz (4) GHadr (g0

21, AfWRAA (A) @ VER, HifEA B g WA W HReh [hdl 39 % folT AT
TSI SRR & STEehT T WTAISTeh §RT &l {ohall STl & |

T& (R) : OE V] H, TR AUG0T-TAfa 61 9T T8l 8T €, it 3 ol T el
feRaT ST &, ST SUREIT 89T GHTvad el 8idl & 31 SHP WK hIoT
HTHH AR el fhaT ST & |

XA

(1) (A) & T 3R (R) T & |

(2) (R) W&l & 3 (A) ToTd & |

(3)  (A) 31X (R) THI et & 31X (R), (A) & ARATE |
(4)  (A) 3T (R) THT &t & 31X (R), (A) T AT TN € |

22. VA 3R ST foshedt S STl SR e SUMiReT & Tt ol o Jodish & o o 3T
! fT=tefad 7§ g 0 § SHT A1 ¢ 2
(1) T g 3T HeA (2) DT UEH N
(3) el AR AN (4) TR TR o
23, 3R STa 95 H TR g8 o ° fFefaiad § 9 fhass SRt ol gedt € 2
(a) TN 3=t
(b) ST T Hrad H R
(c) I ge e 3R fasent wiqeet
A
(1) e (a) (2) e (b)
3) (@) 3R () 4) (), (b) 3R (c)
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24.

25.

26.

27.

28.

Which one of the following denotes performance quality of a product ?

(1) Level at which the product’s primary characteristics operate.

(2) Degree to which all produced units of product are identical and meet promised
specifications.

(3) Product’s expected operating life under natural conditions.

(4) Probability that the product will not fail within a specified time period.

PBT of a firm has increased by 40 percent as a result of 10 percent increase in sales,
operating leverage of the firm is 2. What will be financial leverage of the firm ?

1 4 () 20

3 2 4 1

Indicate the correct combinations of methods for determining the cost of equity capital
from the following :

L. Earnings yield method

II.  Operating income yield method
III. Dividend yield method

IV. Dividend yield and growth method
Codes :

1) I I I

2 o ur 1Iv

3 I om 1

4 1 1ur 1Iv

From the following indicate the correct combination of the cash management models :
L Modigliani-Miller (M-M) model

II.  Miller-Orr (MO) model

III.  Ezra Soloman Model

IV. Baumol Model

Codes :

1) I o I

2 o ur 1Iv

3 1 1I

4 I 1v

Which combination of the following represents the assumptions of Modigliani-Miller
approach for capital structure decisions ?

L. Capital market is perfect.

II.  All earnings are distributed as dividends.

III. Risk classes are homogeneous.

IV. Corporate taxes do exist.

Indicate the correct code :

Codes :

(1H 1 1V

2 1 1 1

3 1 I II 1Iv
4 1 1 1V
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24.

25.

26.

27.

28.

=1 5 ¥ 3 O U gRT R 3cUTg St S IR T[OTerT STt S § 2

(1) o8 &R 59 0 3 bt IR foriodm s st & |

(2) T 9, N9 W 3 B gl Scied ghredl TR il § X Uit fareiftear # wr
FATE |

(3) i fefaat § a6t UenRid vee g |

(4) UH G o 3 faHies q9T 7ty o 378Y WXe et A |

fasha @ 10 wiaea 9fg & worE®T ®H % B A AT | 40 FAqvid B Ig g€ ¢ | B
T eleRsT-2 € | & o forid oltest i 2

() 4 2) 20

3 2 4 1

Tt & Twar Ot sl rTd s FEiita o gt fafaat & @& Ga= i i i
[ o7 o fary

1. U= g 3 iy

[ T 375 fafy

IV. T 3H Ud gig fafy

e

() 1 I 11
2 I 1 IV
Gy 1 1m 1V
@4 1 1 1V

frafafiad ¥ Jehs U HigeT & Hel TS i T iy
[ ORMeE-Her (TH-u) B

II. THeR-3IR (T\-31) dAiee

. TS HieAmT Jed

IV. 9o A

e

() 1 I 11
2 I T 1V
G3) 1 I
4 T 1V

frefafed 7 @ S O 9IS TS g o % AR Her AT T ArdieT
HieHtreer shear & 2

[ GHIeRyere |

Il T ) o7 orieT o &9 H foavor i san & |

[ e o T0eT & |

V. e & fogme e € |

el IS TR

I

M 1 1V

@ 1 1 1
G) 1 1 1 IV
4 1 1o 1V
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29.

30.

31.

32.

33.

Choose the correct sequence of steps of job analysis :

(a) Review relevant background information such as organization charts and process
charts.

(b) Develop a job description and job specification.

(c) Select representative positions.

(d) Decide how the information is to be used.

(e) Actually analyse the job.

(f)  Verity the job analysis information

Codes :
(D) (b), (a), (e), (), (c) and (d) (2) (¢, (b), (e), (), (d) and (f)
(3) (A, (), (¢), (e), () and (b) 4)  (a), (b), (), (d), (¢) and (¢)

Choose the correct sequence of steps of training and development process :
(a) Evaluation

(b) Validation

(c) Need analysis

(d) Instructional design

(e) Implementation

Codes :
() (d), (b), (), (¢) and (¢) (2)  (c), (b), (d), (e) and (a)
(3)  (a), (b), (¢), (¢) and (d) 4)  (c), (d), (b), (¢e) and (a)

Under the Industrial Disputes (Amendment) Act, 2010, the total number of members of
the Grievance Redressal Committee shall not exceed

(1) Four 2) Six

(3) Ten (4) Twelve

Which of the following is/are correct with respect to deductions by way of fines under the

Payment of Wages Act, 1936 ?

(a) Anemployed person can be fined only for acts and omissions which are specified in
a list approved by the state government or the prescribed authority.

(b) The total amount of fine which can be imposed upon a person in any wage period
must not exceed 3 percent of the wage payable.

(c) No fine can be imposed on a person who is below the age of 18 years.

(d) No fine can be recovered by instalments or after the expiry of 90 days from the day
on which it was imposed.

Codes :
(I) (a)only (2) (b) and (c)
(3) (a)and (b) 4) (a)and (d)

Read the following statements and choose the correct code :

Statement — 1 : A rise in SLR directly reduces credit creating capacity of Banks.

Statement — 2 : Changes in SLR, like CRR, produce direct and immediate effect on the
supply of money and credit.

Codes :

(I) Both the Statements are correct.

(2) Statement — 1 is correct while Statement — 2 is false.

(3) Statement — 2 is correct while Statement — 1 is false.

(4) Both the Statements — 1 and 2 are false.
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29.

30.

31.

32.

33.

FH1 fITATOT & TN o Fal 67 T T DI

(a) TS I SR ihAT AE S W ey eiel T b GHIET e |
(b) I ToeroT 3T S v faspfad & |

(c) wfaMfs Ut =1 =F= T |

(d) T o T o gemT BT SUAnT Y Tk ST

(e) A HT AATIH TTATIT SHIAT

(f) fIveooT GerT T HeATIT HEA

- T

(1) (b), (), (e), (D, (c) AR (d) 2) (), (b), (o), (@), (d) 3R (f)
3)  (d), (), (©), (o), () 3R (b) @) (a), (b), (O, (), (e) 3R (c)
UTRTeToT 31T frehTa =Bl Uisha o TRUT o Wet ShH T T I

(a) oA (b)  VHTUIIEHOT

(c) 3T faveior (d) ITIRTICHE MHTT

(e) HEFEAA

£

(1) (d), (b), (a), (e) &R () ) (©), (b), (d), (e) R (a)

3) (), (b), (c), () 3 (d) @) (), (), (b), (e) #R (a)

3T foang (Feme) stfufwam, 2010 % 3Tei RiwRd HaroT WHld % T8l ol Fol &
frefoiaa o 9 frad e &t & Febal 2

(1) =% Q) BE

3 4) &

TSTEdt G I, 1936 & 3T S[HH % €9 H FHefdl & gay H H=iarad § 9 S dieE

T W e ?

(a) ST =i W Shaet T8 ST 3K 9% o foIT ST @TEr ST HehaT &, ST T AR AT
TR TRt G SFgAifed e o faiee 8 |

(b) Tordt ToIg orafy | foRdt AT W AT ST Heh aTet ST 31 et ThA, 3T oI5l & 3
i 9 2y T8l g teu |

(c) 18 a9 ¥ Y IH & AR UR IS STHHT &1 ST ST Gohell § |

(d) T o ST FREAT gRT AT ST ST ST & 139 9 90 571 ot T o a1g 9ot el fohan

ST HHATE |
Eclg_c":
(1) T (a) (2)  (b) 3R (c)
(3) (a) 3R (b) 4) (a) IR (d)

TTeIRad oMl ot g 3] el e ol 99 HiteT ;

HAT —1 : UHUAINR | ghg, Sehl ol ARG G & i Heded &9 F 527 <t & |

FUA -2 :  HLARAR, I i THUA.R, H IRAHT F &9 3R TG Bl Y T Tl 3T
AT TS TeAT € |

£

(1) ST %9 9T E |

(2) FAT- 1 W, ST FIT— 2 AT ¢ |

(3) T2 E, AAF FIT— 1 TATE |

(4) T -1 3R 2IA TATE |
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34. Match the items of List — I with those of List — II

List - I List - IT
a. Locally operated financial institutions 1. Community Development
that empower employees to make local Bank

decisions to serve their customers and

partners.

b. Regulated banks that provide financial ii. Offshore Bank
services and credit to under-served
markets or population.

c. Banks that prioritise the transparency iii. Community Bank
of all operations

d. Bank located in jurisdictions with low iv. Ethical Bank
taxation and regulations

Codes :

a b
(H i iv
2) i il
3) iii i
4) iv il

C
ii
v
v
ii

d
11
1
i1
1

35. If you need to transfer money to another person through internet, which of the following
method you could use ?
(1) Financial cybermediary
(2) Electronic cheque
(3)  Electronic bill presentation and payment
(4)  All of the above

36. Which of the following methods are qualitative methods of control of credit creation
practiced by the Reserve Bank of India ?
(a) Open Market Operations
(b) Variable Reserve Ratios
(c) Credit Rationing
(d) Margin Requirements

Codes :
() (a) and (b)
(3) (c)and (d)

37. Assertion (A)

Reasoning (R) :

Codes :

(2) (b) and (c)
(4) (d)and (a)

FEMA has facilitated the growth of India’s export and has helped in
procurement of imported raw materials and capital goods required for
rapid industrial growth.

It is evident from the provisions of FEMA that it has greatly relaxed
the conditions for dealing in foreign exchange.

(1) (A) is correct but (R) is not correct.

(2) (A) and (R) both are correct and (R) is the correct explanation of (A).
(3) (A) and (R) both are correct but (R) is not the correct explanation of (A).
(4) (A) and (R) both are incorrect.

Paper-I111
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34.

35.

36.

37.

Tt — [ B A& 0 gl — 11 ol 7T o T GfeAd T
T -1 =t - 11
a. ©FE T § Uyl foxdia S, ST HHARAl B i GRE 9 o
3O UEehl 3R WFISRT 6l el 3 &% fold =
o o B wifeRT U e € |
b. fafatad S, ST AaEA SSRT a1 T97 S o Jand i, STHIT S
3T I WS AT & |
c. S, ST G Ul | URSIIT Bl AT Sa € | jii. THSE 9%
d. = HEH SR faEET e SEer |7 e o9 iv. Afde o
£
a b C d
M i iv i i
) i i iv i
3) i i iv i
4 iv i i i
T IHT TS P AT F GO AT T 9 ol 30T AT & af 3T (=t o 9 fq
T T STANT T Tl € 2
(1) foxdi= amEer mewr (2) Sl o
(3)  CTeRIiTep et SREIAIohYOT AR e (4) SR At

frfefad usfdl § & ®F O TS IR RS/ 9% 5R1 SRR § o ST arelt 9 g
fe=oT =t ToTTeAes ugfaat € 2

(a) HI TSR T (b) URadl R ST
(c) T IR (d) ™S STavgehan

E T

(1) (a) 3R (b) 2) (b) 3R (c)

3) (o) &R (d) @) (d) 3R (a)

AP (A) @ TREITAT (FAN) O 9RT ¥ 1T o Talg o Giaen g€ &, oy die s
T%WWmﬁﬁmwwﬂiﬁmaﬁaﬁaﬁqﬁﬁw
HE |

% (R) : T % WEEHl ¥ 9% T § f6 39 ot fasel 45T & YeeRr & vt o
TATAIT TR |

%

(1) (A) W@l g, dAfeh (R) Teid & |

(2) (A) 31X (R) THI &t & 31T (R), (A) i T& AN E |

(3)  (A) 3R (R) I Tl €, Al (R), (A) T Hel AR T&l & |

(4) (A) 3 (R) IH ToA € |
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38. Match the items of List — I with those of List — II with regard to International Monetary

39.

40.

Paper-I111

Fund :

List - I
a. Stand-by Arrangement 1.
b. Poverty Reduction and Growth ii.

Facility (PRGF)

c. Supplemented Reserve Facility iii.
(SRF)
d. Contingent Credit Line (CCL) iv.
Codes :
a b c d
(1) iv i i i
(2) iv i i il
3) 1 i i iv
4) i v i iii

List — IT
Enhanced Structural Adjustment
Facility (ESAF) was replaced by this
scheme.
Exceptional balance of payments
problems arising from a sudden loss
of confidence in the currency.
Financial crisis causing
outflow on capital account
balance of payments.

capital
of

To meet balance of payments
difficulties (most commonly used
facility).

Arrange the following in the correct sequence on the basis of chronological order from the
earliest to the latest :

(a) World Trade Organization

(b) Dunkel Draft

(c) The Uruguay Round

(d) General Agreement on Trade and Tariff

Codes :

(1) (a), (b), (c) and (d) (2)  (d), (c), (b) and (a)
(3)  (b), (a), (c) and (d) 4) (0, (d), (b) and (a)

Which of the following are the features of the Foreign Trade Policy 2015-2020 :

(a) Served From India Scheme (SFIS) has been replaced with Service Export from India
Scheme (SEIS)

(b) 5 different schemes have been merged into a single scheme namely Merchandise
Export from India Scheme (MEIS)

(c)  All duty credit scrips issued under SEIS would be non-transferable.

(d)  All duty credit scrips issued under MEIS would be fully transferable.

Codes :

(1) (a), (b) and (¢) (2)  (a),(c)and (d)

(3)  (a), (b) and (d) (4)  (b), (¢) and (d)
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38. IR Hifses M & Tae | e — [ 1 A&l B el — [ 711 & T GAferd DIy

a.

b.

C.

d.

=t - 1 = - 10
WA e i 39 SORe SHEeE o
EUATUTE) & ©F W Tg Fl h
T
T "M AR Ggks H GeeT il GuT H YO favarg & v ¥ 3=
(T ST ST T, ) gH Al M e & faRe
BRIy

YR STRTTT Graem (TE.3RUE)  iji. foxiig Fhe | Sea= PTaH G &
TSI 1T I & aTetT STt STel-JaTTe

FHidsie e ere (I d.uet.) iv. AR et i ATl I 1T HEAT
(3T AT &9 I TR grerem)

T4

(=N

(1)
2
3)
“4)

a b C d
iv i i il
iv i i il
i il i iv

i v 1 11

39. TUsel T 31T T % HIoTsh o YR W (Hfiad i 98l A § oeT

(a)
(b)
(©)
(d)

fova =R e
THol SR
3679 S

SR 3 AT I GE R

T4

ey
3)

(@), (b), (¢) 3R (d) ) (), (¢), (b) 3R (a)
(b), (a), (¢) 3R (d) @) (), (d), (b) 3R (a)

40. Tr=feiiEd 9 9 foeer smar ifd 2015-2020 &1 i 9 fogman ¢ 2

(a)

(b)

(©
(d

gdg WH oA WhH (WEUEIAETE) & ©F W gog U hiH dedr why
(THE.IAETH,) &S TE |

5 fafr=T whmi 1 AeeEs USUIe Y Sfedr WhiY (TH.E.3TEUE,) AW Ukhel @i |
forerar foram T 7 |

TH S IMETH, % T SRY bt 7S G ooh STHT TTedl SFeeaierRoia g |

THE SE Y, o 3T STRI B T8 Tl I[oeh STHT Ufert uid: eediaeond gm |

%< :

(1)
(3)
J-08-16

(a), (b) 3R (c) (2)  (a), (c) 3R (d)
(a), (b) 3 (d) 4)  (b), (c) R (d)
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41. Choose the correct code indicating the strategies employed by companies against hostile
takeover :
L. Green mail
II.  Poison Pills
III.  Yellow Crown
IV. Golden Parachutes
V. Pac-man Defence
Codes :

() LILIV,V (2) LI 1L IV
3 ILILIV,V 4 LILILV

42. Which of the following are not models used for evaluating the performance of Mutual

Funds ?

L Sharpe Model

II.  Miller Model

III. Lintner Model

IV. Jenson Model

V.  Treynor Model

Codes :

(1) 1,IL T 2) LIV,V
3) LII 4) 11

43. ‘Lev and Swartz Model’ belongs to
(1)  Social Accounting
(2) Depreciation Accounting
(3) Human Resource Accounting
(4) Inflation Accounting

44. Rematerialisation of securities is meant by
(1) Repossession of securities (2) Reholding in Physical form
(3) Repurchase of securities (4) Restoring the lost right

45. Risk with reference to investment is meant by
(1)  Excess of possible return over expected return
(2) Reverse variability of possible return to expected return
(3) Excess of inflation rate over possible return
(4) Incapability to earn market rate of return

46. Which of the following are the components of capital market ?
L. Government Securities Market
II. Commercial Bill Market
III.  Industrial Securities Market
IV. Treasuring Bill Market
V. Long-term Loans Market

Codes :
() LILIV,V 2) LILII
3 LILV @ LILOLIV,V
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41.

42.

43.

44.

45.

46.

fagugut 1w & faes FHHHET §RT TR JOHITTET S aTel Tal S T Ta HiTeT
L U999

II. @ U

L. I 3

IV. Tieed WRE

V. Udd e

S :

(1) LILIV,V ) LILILIV

3) ILULIV,V 4) LILILV

fr=fafad & 9 o ¥ IRENE FE (JEee wvs) & Jodich o YanT 5 STH Hfdey (Hiee)
T E 2

[ 99 uiqey

II. Hor ufaea

. e R ufaey

IV. S uaed

V. R uaeq

S :

(1) LILII 2) LIV,V

3) LI 4) I, 11

(1) IS oRaiehT 9 (2) T A@ET g
(3) TS GAEE @i d (4) TEI-THIT o o

Trafar o R Ractesiem ¥ o &
(1)  uferfet st GAugoT AT (2) YA Hifae T H I AT
(3) Ul 1 AsRa AT (4) W ATFFER T YT AT

fafam & gy 9 Sifew 9 aed §

(1) TR Teama o SR GeTied Yo b1 STe

(2) USRI e | ARG Uead i faudid aRedeiierdr
(3) TST-THIT 3T HT RIS TedTd U ST

(4) IR U T 31T e | 3TRTHAT

ffetfiad # @ 9 9 IS TR FaH € 2
[ ORI ufayfd IR

II. HHPEE & aeR

. 3fEnfTes Hfayfd IR

IV. &R 9 IR

V. < 0T IR

S :

() LILIV,V 2) LILII

3 LILV @ LILOLIV,V
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47.

48.

49.

50.

Match the items of List — I with those of the List — II and choose the correct code :
List - I List — IT

a. Process of admitting securities for trading i. Jobber
on a recognised stock exchange

b. Device adopted to make profit out of the ii. Badla Transaction
difference in prices of a security in two
markets.

c. The facility to carry forward a transaction 1iii. Listing
from one settlement period to another

d. An independent broker who deals in iv. Arbitrage
securities on his own behalf

Codes :

a b c d
() i v i ii
) i vl i
3) ii i iv il
4) iv il i ii

Match the items of List — I with List — II with regard to consumer behaviour influencing
factors :

List - 1 List — II

a. Personal factor 1. Status
b. Cultural factor ii. Perception
c. Social factor iii. Economic condition
d. Psychological factor iv. Economic strata
Codes :

a b c d
(1) iii i ihiv
(2) iii i iv il
3) iv i i il
@) iv i il i

A conflict between Dominos Pizza and its franchises is to be referred to as
(I) Vertical conflict (2) Horizontal conflict
(3) Lateral conflict (4) Bi-lateral conflict

Straddle positioning uses :
(a) Point of parity
(b) Point of difference

Codes :
(1) (a)only (2) (b)only
(3) Both (a) and (b) (4) Neither (a) nor (b)
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47. gt — 1 A& 61 G — 11 6l O81 § THeTe HifTe ud Tel e 1 9a ST

et -1 et - 10
a. fordl O U @ faufor § safeed g i SR
Tefrar ST ereT S Sl HfshaT

b. T IR W Haqfd & Todl ¥ IR ¥ oW il SEel Jiel
AT HE Bl G

o P SR A OTE feene A W o i g

31afy T o ST Dt Gheren
d. UH &A= Iolel ST S A O ufayfee @ iy, SRSt
Fa-fashg FaT e |

T :

a b C d
() i1 v 1 il
(2) 11 v il 1
3 1 1 Y 1il
@ iv i 1 il

48. SUIFT TR H TTIET B aTeT HRbl b Faeg H gl — [ 1 7T b gt — [ H AT
THfeTd HIfT
T -1 et - 10

a. oA HRE i weta
b. R FREH ii. ot
c. WIS ®R®H iii. 3T feafa
d. FHAGEIS HRH iv. T TR
E T

a b c d
(1) i1 1 il Y
(2) i1 1 Y il
3) iv 1 il 1il
@ iv i il 1

49. S USS 3R STeh! hemestt & sie & Zohirel ol el Sl &

(1) & zTE (2) &St e
(3) e T 4) Tt s

50. oS-Er w fefq 5 ymi e ST §
(a) FHAT & &g

(b) IR =TT

£

() #@ (2) = (b) .
(3) (a) 3R (b) T 4)  (a) 3R (b) T Tl
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S1.

52.

53.

54.

5S.

56.

57.

Assertion (A) : Marketing is anything you create or share that tells your story.

Reasoning (R) : Marketing is a way to connect what products and services you have to
offer with customers who want and need such product and services.

Codes :

(1) (A) is correct but (R) is not correct.

(2) (A) and (R) both are correct and (R) is the correct explanation of (A).

(3) (A) and (R) both are correct but (R) is not the correct explanation of (A).

(4) (A) and (R) both are incorrect.

Assertion (A) : Downward price pressure for a changing economic environment has
coincided with some long-term trends in technological environment.

Reasoning (R) : Through internet, buyers can get instant price comparisons and marketers
can monitor customer behaviour to tailor their offers to individuals.

Codes :

(1) (A) is right and (R) is wrong.

(2) (A) is wrong and (R) is right.

(3) Both (A) and (R) are right.

(4) Both (A) and (R) are wrong.

Which form of e-market place brings together buyers and sellers from the same industry ?
(1) Horizontal (2) Vertical
(3) Integrated (4) Inclined

Identify the universal buying motives from the following :
(a) Profit or gain

(b) Beauty and Complexion

(c) Fear of loss

(d) Competition and Struggle

(e) Comfort and Pleasure

(f) Avoidance of Pain

(g) Love and Affection

(h) Pride and Prestige

Codes :
() (a), (b), (¢), (d), () and (f) (2)  (a), (), (d), (e), (g) and (h)
(3)  (a), (o), (e), (), (g) and (h) 4 (a), (b), (), (), (g) and (h)

Which of the following is the ongoing process of systematically identifying, assessing and
developing organisational leadership to enhance performance ?

(1) Executive Planning (2) Role Planning

(3) Replacement Planning (4)  Succession Planning

Under the Factories Act, 1948, a “Young Person’ means the person who has not completed the
(1) Fourteenth year of age (2) Fifteenth year of age
(3) Eighteenth year of age (4) Twenty first year of age

Under which of the following gain sharing plans the employer divides the value added for
the period by total payroll expenses ?

(I)  Scanlon Plan (2) Improshare Plan

(3) Rucker Plan (4) Scalar Plan
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S1.

52.

53.

54.

5S.

56.

57.

AfHFHTT (A) ¢ %rw;aww%,ﬁﬁmgﬁawﬁ%aﬁiaaﬁ%aﬁﬁaﬂwm
AT E |

a& (R) : ToUUe 9% kT €, ST 39 a1 A SiedT & [ 3MUehl S STHISTS i S9 3
FA T T U1 o7 &, 578 39 SIS S Gl ! /il 3K SHAE9gehe 1 ¢ |

FHE

(1) (A) W, & (R) T & |

(2) (A) 3R (R) 31 Tl & AT (R), (A) I Tl AT € |

(3)  (A) 3T (R) THT W& &, AfB (R), (A) T TEl & Tl & |
(4) (A) 3 (R) IH ToA € |

ANHAT (A) : T gU NIh URAY T STUNTHT BT FaTd, Wl Taet aiemT § $
SreehTeTsh Tt & TUTd g37 &

% (R) : ETATh $2TAC W shal TRl AT Sl oIl T Gehell & 3R faqurmeht siferat s
Sl | Sed g3 SUHERT3l % a8 i AT Y Tehal ¢ |

%

(1) (A) " T 3R (R) T & |
(2) (A) AT E R (R) T & |
(3)  (A) 3T (R) I W E |

(4) (A) 3 (R)IH TAT € |

AT It &l ShiF 91 &Y Teh &1 ST T shell AT feshal ol Teh 919 A1 € 2
(1) &fas (2)
3) THEA @) v

fr=fefea & yaee sha v 6 fafera S

(a) TN AT AT

(b) did 3R T1-8T

(c) &I &1 9

(d) wfaEmT R HeY

(e) o AR TR

(f) OISl 1 IR

(2) ™R T TR

(h) TR AR ufaer

Elg‘d':

(1) (a), (b), (c), (d), (e) 3 (f) ) (a), (), (d), (e), (2) 3R (h)
(3) (), (), (e), (O, (2) 3N (h) @ (), D), (©), (D, (2) R (h)
fr=fafad 5 9 ®F 91 HE-FoET 9gH & 6 TS gcd & gand aith ¥ TedH

X, TEATh i ST T e Bl e ATk € 2

(1) HEUTAH T (2) Yo A

(3) e FsT (4) STGHR A

HREMT T, 1948 % T o AT | T T8 AR 4 ¢, e

(1) ISE a9 i 3Mg I &1 @l | (2) USE 99 W 3Ng Y T@l i &l |

(3) RREATH AT R I HBI &l | (4) TIDHIT a9 &l g T T&l I & |

Frfeied o ¥ fFg AT TS aST & o7 e el e1afy & Joa atad & Fot
Fe-fereat = o B foriid s § 2

(1) IR TS (2) TARET ASH

(3)  THRT ASHI (4)  ThoR TS
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58.

59.

60.

61.

62.

When in any year the allocable surplus exceeds the amount of minimum bonus payable to
the employees, the maximum bonus payable by employer is

(1) 8.33 percent (2) 10 percent

(3) 20 percent (4) 25 percent

Who among the following propounded that the fixation of wages depends on the
bargaining power of workers/trade unions and employers ?

(1) David Recardo (2) John Davidson

(3) J1.B. Say (4) Karl Marx

Which of the following is the situation in collective bargaining when the parties are not
able to move further towards settlement because one party is demanding more than the
other party offers ?

(1) Impasse (2) Arena

(3) Rigid (4)  Unmoving

Match the items of List — I with those of List — II

List - I List — IT

a. Behaviourally 1. Placing predetermined percentages of
Anchored Rating employees into several performance
Scales (BARS) categories.

b. Forced Distribution ii. Anchoring a numerical rating scale with
method specific behavioural examples of good

or poor performance.
c. Alternation ranking 1ii. Ranking employees from best to worst

method on a particular trait, choosing from the
highest to the lowest, until all are
ranked.
d. Paired comparison iv. Ranking by pairing and comparing an
method employee with every other employee.
Codes :
a b c d
(1) i i i iv
2) i i i iv
3) i il i iv
4 i i il v

Assertion (A) : Developing countries, with a narrow range of exports (often of
primary goods) as their economic base, are particularly vulnerable to
economic exploitation.

Reasoning (R) : Critics of multinational corporations usually view it as an economic
and often, political means of foreign domination.

Codes :

(1) (A) is correct but (R) is not correct.

(2) (A) and (R) both are correct but (R) is not the correct explanation of (A).

(3) (A) and (R) both are correct and (R) is the correct explanation of (A).

(4) (A) and (R) both are incorrect.
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58.

59.

60.

61.

62.

g Tl oY T 3Teied i ST aTelt SN T, HEANET Pl 37 <IFaH S99 HF THH F 31
2 S &, A e gRT 7 Sitshd S g &

(1) 8.33 ufaer (2) 10 v

(3) 20 v (4) 25 waeE

Frefefad 5 @ g ufamisd o & fob Iigl bt feior sheeniia, Teige e 37 et o
et viferd WX Fei e & 2

(1) sfas Reren (2) S SfaeaEa

(3) S&L ¥ (4) Tt T

ek Tearstt § Fefariad § 9 s 9 [eifd gidt &, 579 YeTshR THeid i 3{¥ 31 i 9g
&, HiTh T U&ThR, THY UEThR T ST T U1 & 31k bl T hiell & 2

(1) ey (2) @
(3) e (4) TR
G — I ! 7&T ol gt — 1 0 9:T o 91T Gaferd ity
=t - 1 =t - 11
a. SNREING T4 Y UHS i FHHANAT Sl GAMEIRT a9l STER &E
TR A FH-foaE S § T |
(S T.3TA,)

b. HT faaror ughd ii. 37T HHT HH o T A HH HA-
foes & fafvte JaERms IRl &

I THRIT HAT |
c. Uhicus FUNHOT W il Rl foRImAT % MR W wHEIRA &
LrAL STIAH adT =aT Ta9 g0 SHHiThd e
S q% W HEAIRE] 1 HHIT T 8l
S|

d. g T gE iv. I BT SHHIR AT T ThdT HHAR
i Ui 3T HHART & Q1 i1 T |

E T

a b c d
(H) 1 1 i iv
2 1 1il 1 v
(3) it 1l 1 v
@ i 1l i iv

AT (A) :  TahrEsiicr <91, 3 T TR & &9 § il & Tt s (T wrafies
) Thed, 2N 30T % iq foeiy € & Teg9iiet 8 € |

& (R) : TEET WEAN % gClEsh WM g Mg IR wrE: fadsht wyer &
eI | % &9 8§ 3@d € |

C TAN

(1) (A) W@l g, dAfeh (R) TeAd & |

(2) (A) 3R (R) I Tl €, AT (R), (A) T TEl AR Tél & |
(3)  (A) 31T (R) IHT e &, 31X (R), (A) I T&l AN E |

(4) (A) 3R (R) T Torq € |
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63.

64.

65.

66.

67.

68.

69.

Which among the following is not a member country of NAFTA ?
() U.S.A. (2) Panama
(3) Mexico (4) Canada

Benefits of Capital Account convertibility are

(a) Availability of large funds to supplement domestic resources.

(b) Improved access to global financial markets.

(c) Improvement of financial system in the context of global competition.
(d) Ensured economic growth and development.

Codes :
() (a), (b) and (¢) (2) (b), (c) and (d)
(3) (a),(c)and (d) 4)  (a),(b), (c) and (d)

As per WTO guidelines Agreement on Agricultural AOA is not considering which of following ?
(1) R and D and any other indirect support and assistance to farmers by the government.
(2) Direct payment to farmers.

(3) Least development countries do not need to make cuts.

(4) Cut back of domestic policies which directly affect production and trade.

What is a future contract ?

(a) Itis an agreement to buy or to sell a specified quantity of asset during a given period
at a spot price.

(b) Itis a marketable obligation to buy or to sell a specified quantity of a particular asset
during a period at a given price.

(c) Itis an option to buy or to sell a specified quantity of asset during a given period for
a given price.

(d) It is a marketable obligation to buy or sell a specified quantity of a particular assets
during a given period of time at a price to be determined in future.

Codes :

(1) (a) and (c) (2)  (c)and (d)

(3)  (b) only (4)  (a)and (d)

In case a company which is publically listed on any European Stock Exchange wishes to
raise money from India; then this company may list its securities on Bombay Stock
Exchange. Consequently, the Indian investor can buy the securities in which of the
following form ?

(I)  Bullion Derivatives (2) FDR

(3) GDR (4) ADR

The concept that

“Lack of resources often helps countries to become competitive” is related to which of the
following ?

(1) Competitive theory (2) Product life cycle theory

(3) Porters Diamond’s model (4) None of the above

Rent free accommodation provided to the government employees shall be taxable upto
(1)  20% of the employee’s salary

(2)  15% of the employee’s salary

(3) licence fee fixed by the government

(4)  10% of the employee’s salary
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65.

66.

67.

68.

69.

frfeifad & @ &9 91 TI.T TR AT, (AT9R) T 95 391 Tél 8 ?

(1) 3FudaT (2) A
(3) HfeEe (4) HTET

(a) EC] WETHAT T [ FA o 1T S Al i Sucter
(b) ek foxia I=IRT A S~Id Ugd

(c) Afvesk waersl & UG § fordia Jomett § gur

(d) g s Tgtg IR faera

C YAH
(1) (a), (b) 3R (c) (2)  (b), (c) 3R (d)
(3) (a), (c) 3R (d) 4) (), (b), (c) 3R (d)

T2, & SRR & SFaR FY TAT Foe R § Fefated § 9 o9 T foar 1@t
T ST & 2

(1) TR R FRAMT Sl 3R 3R S a9 g 7 Vel Teai 3% T

(2) ToramET T FiEr SR |

(3) &d HH g I I FHld! I BT AR el Bl & |

(4) e Afadl & w9 T “Heaw”, R SR AR AR yeret ®9 § yuifed 8 ¢ |

el HiagT 1 ¢ 2

(a) TINR HFd W T 6 & IR IRIUMal &t faHese AT & 3 a1 fasa o &
T |

(b) IE T HUd W A ety & IR Ty uREuta i faffese o % %= o ok
faque S Bl & |

(c) IE T TE Hd % [T I T Y & IR IREU o €9 H fafiese amn i w2 a1 o
T o faehed & |

(d) Hfosa g i =t ST oetl iad I 96 & &9 | 3f TE 3Fay % SN IREu oo &
w0 4 fafqfes A & 7 = foskg & 1 fauvm g €

C YAH
(1) (a) 3R (c) (2) (c) 3R (d)
(3) A (b) 4) () 3R (d)

Mg U FrasTeh HEAT ST G @by Taior § graeg & S 9Rd 9 89 ST 9%t © df 39
FHIAT BT TOAT Uil o TE Wy foufor 7 giees AT @ | Hhelasy YR HaeTe
frfefea o @ frg w9 o wiayfas @die har g 2

(1)  fera =g (2) TEIIW.

(3) SR (4) TIIR

“GRTEAT BT HH U S9N Rl UM a7 H TEeh gl & 30 oo i gy = o 9 forad
T

(1) wfcan faga (2) SR STed @5k [ggid

(3) URIW ERF (SEHE) HiawT (4) 3UEH | 9 HE TE

TSR] AR T Te [hraT o 3T & Y AT i sht HAT 8

(1) HHERI % o= & 20 w9 (2) HHARI % I 1 15 wiae
(3) WHR FRT FEIRT a0 &l B (4)  FHAR % o H1 10 Ufderd

J-08-16 29 Paper-I11



70.

71.

72.

73.

74.

75.

Marginal relief on income tax of a resident individual was available under which section
of the Income Tax Act, 1961 for the assessment year 2015-16 ?

(1) Section 86 (2) Section 88 E
(3) Section 89 (4) Section 87 A
Match the items of List — I with those of the List — II and indicate the correct code :
List -1 List - 11
a. Section 80D 1. Pension fund of LIC
b. Section 80 CCC ii. Interest on loan taken for studies
c. Section 80 G 1ii. Health Insurance
d. Section 80 E iv. Donation
Codes :
a b c d
(H i VS 1) B \Y

2) 1 i v
3) ii 1 v i
4 1 i iv 1

Income of the previous year is not taxable in the subsequent assessment year for which
combination of the following ?

L Income of non-resident from shipping

II.  Income of casual nature

III.  Income of bodies formed for short duration

IV. Income of a person trying to alienate his assets

Codes :

() 1 I 11
2 I 1 1V
G 1 1m 1V
@4 1 1 1V

As per the Income Tax Act, 1961, rate of tax for long term capital gain for the assessment
year 2015-16 is

(H 20% 2) 30%

3) 10% 4 25%

As per the Income Tax, 1961, capital gain arising from the sale of agricultural land owned
for 5 years in rural areas is

(1) Taxable as short term capital gains (2) Taxable as long term capital gains

(3) Exempted (4) Partly taxable and partly exempted

Capital expenditure on scientific research in a previous year, which could not be absorbed
due to insufficiency of profit in the relevant assessment year, can be carried forward for its
setting off upto

(1) Next assessment year (2) Five assessment years

(3) Ten assessment years (4) Indefinite number of assessment years
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ATHT AIH, 1961 I [T aRT & F1d - UROT a9 2015-16 H Ush ot st i

IR TR T T ST & 2

(1) «T86 (2) @wT88E

(3) HRI89 (4) 487 A

Tl — 1 ol 7T 1 Gt — 1 3 A& 9 ool HifST e Qe shig i ST Sife
T -1 = - 10

a. "I 80D i, Sie ST T 6 U

b. W1 80 CCC ji. 3T & folT T 301 W S

c. "180G iii. T ST

d. ¥RT80E iv. IF

e
a b C d

M i i i v

2 i 1il 11 v

(3) i1 1 v 11

@ i i iv 11

FrfafEd & fohe 9ae | 98 a9 & 3719 918 aTel SR a9 § T I &l gl ¢ 2
I SEERE 9 SAf-ard & e |

II. 3RS W Hi T |

I 37Tt & fold ST Semstl =i 37 |

IV. UQ Al o 37 ST 70T Gefaal i e i o JaE | € |

e

() 1 I 11
2 I T 1V
@) 1 1m 1V
4 1 1 1V

3MIHT AT, 1961 F MER TR -8R a9 2015-16 F T SEHEAA TSI o TR BT
HXE

(1) 20% ) 30%

(3) 10% 4 25%

MR AT, 1961 F SMER T AHT &1 § Ui oot o foTT w@nfies § & arett g & fasea
W B e YTt o

(1) STHIAN GoTd A & TTH F AT T |
(2) SEHTCA ST o o &Y H & AT € |
(3) WIEFE |

(4) 39T AT UG S0 HE G ¢ |

TH 9d a9 § AR I W YT o5, TG o bl HHT o HRUT Helg -8R0 a9 | foeli
Tet Toha ST TehT, STufeiiad e & ToTT 3T o STam ST Hepel & 2

(1) 37T B-TaROT a9 deh (2) UM YR Gt d%

(3) T HTUROT 6T TH (4) AFYEd AT & HI-FYUROT IO qH
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